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QUESTION 1

When building an application, why might you use a tab set?
A. To group related fields using custom HTML code

B. To better organize History Log data

C. To group related fields for administrative purposes only
D. To group related fields into logical arrangements

Correct Answer: C

QUESTION 2

Which of the following areas of capability are covered by IT Security Risk Management?

A. Establishing security policies and standards, testing Business Continuity Plans

B. Establishing business context for security, detecting and responding to attacks

C. Developing Plans of Action and Milestones, managing Crisis Events

D. Identifying and meeting regulatory obligations, defining and implementing policies and standards

Correct Answer: A

QUESTION 3

What does Archer use to match components, e.g. applications and fields, between two instances during the packaging
process?

A. System IDs

B. GUIDs (Globally Unique Identifiers)
C. Key Fields

D. Tracking IDs

Correct Answer: D

QUESTION 4
Within RSA Archer, data is restored in the following nested sequence of items:

A. Solution> Application>Record>Field
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B. Workspace>Dashboard>iView>Report
C. User Account> Workspace>Solution> Application
D. Access role> Group> User Account>User

Correct Answer: A

QUESTION 5

Which of the following best describes one goal of Regulatory and Corporate Compliance?
A. To consolidate information from multiple regulatory bodies

B. To provide a means for organizations to establish and monitor metrics

C. To enable internal audit teams to assess audit entities

D. To monitor third party performance

Correct Answer: A
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